MODEL SA1381 pnp MODEL SC3503 NPN
+IS=55544E-14  BF=148 +1S=7.010E-13 BF=156.09 VAF =600
+ISE=2.0546E-15 NE=L5 1SC=2.04807E-09 +IKF=0.12325 NE=15
+NC=15 VAF=580 VAR=100 +BR=0.64499 IKR=0.05102
+IKF=0.2163  IKR=0.187544  RB=10.8 +1SC=6.4644E-09 RE=0.108
+RBM=0.02 RE=0.0512 +RC=1215 RBM=0.034
+RC=3572 VIE=0.748 +IRB=3.0e-6 CJE=710E-12
+MJE=0.371 +CJC=8.20E-12 TF=7.025E-10  XTF=2
+VJC=0.541 TF=8.0312E-10 +VTF=35 ITF=1 TR=1.0E-8 vi
+XTB=0907  EG=0.62 XTI=3 +EG=0.76 XTB=15 FC=05 ser=1
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.model 2sa970 PNP(Is=465.4f Xti=3 Eg=1.11 Vaf=57 Bf =407.6 Ise=4.683p Ne=2.051 model IRF610 NMOS(Level=3 Gamma=0 Dell Eta=0 Theta=0 Kappa=0.2 Vmax=0 Xj=0
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MODEL Q2SA1837_x PNP ( 1S=2.39372559E-10 NF=1.3040 15937 BF=300 VAF=273 IKF=2.087725944 NK=0.94719458 ISE=1.46829699E-11 NE=1526663542 BR=4 NR=1 VAR=20 IKR=1.05 RE=0 RB=1.8 RC=1.65 CJE=4.7407E-10 VJE=1.1 MJE=0.5 CJC=8.6700E-11 VJC=0.3 MJC=0.3 TF=1.642191 E-09 FC=0.5 ITF=1.076260106 XTF=5.868994022 TR=1.38U)
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